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FRAI7I EHET
xRE BAEE N EAs20F t=50mm m2 1274 1270
HkEEY T
k- T UKR—IILT
TKEHBERAET BT 12 12
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TR T 7L IR m2 1274.0 1270
TR I 7L BHEEY HHET m3 63. 7 64
T A I 7IL NS BwmiEA DIDREHY 8 OkmBAR t 146. 5 147
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0 + 0.0 0.0 9. 00 9. 00
2 + 9.0 11.0 b. b0 7. 2b 79. 8 5. b0 7.25 79. 8
20 + 0.0 9.0 4. 50 5. 00 45. 0 4. 50 5. 00 45. 0
40 + 0.0 20. 0 4.10 4. 30 86. 0 4.10 4. 30 86. 0
60 + 0.0 20. 0 4. 20 4.15 83. 0 4. 20 4. 15 83.0
80 + 0.0 20. 0 4. 20 4. 20 84. 0 4. 20 4. 20 84. 0
100 + 0.0 20. 0 4. 20 4. 20 84. 0 4. 20 4. 20 84. 0
120 + 0.0 20. 0 4. 30 4. 25 85. 0 4. 30 4. 25 8b. 0
140 + 0.0 20.0 4. 20 4. 25 85. 0 4. 20 4. 25 8b. 0
160 + 0.0 20. 0 4. 20 4. 20 84. 0 4. 20 4. 20 84. 0
180 + 0.0 20. 0 4. 60 4. 40 88. 0 4. 60 4. 40 88. 0
200 + 0.0 20. 0 4.10 4. 3b 87. 0 4.10 4. 3b 87.0
220 + 0.0 20. 0 4. 30 4. 20 84. 0 4. 30 4. 20 84. 0
240 + 0.0 20. 0 4. 20 4. 25 85. 0 4. 20 4. 25 8b. 0
260 + 0.0 20. 0 4. 00 4.10 82. 0 4. 00 4.10 82. 0
280 + 0.0 20. 0 3. 90 3. 95 79. 0 3. 90 3. 95 79.0
290 + 0.0 10. 0 3. 80 3. 8b 38. 5 3. 80 3. 85 38.5
293 + 0.0 3.0 6. 00 4. 90 14,7 6. 00 4. 90 14.7
1) 293.0 1274. 0 1274. 0
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2 b ) T L= 9.0 m A=A = 9.0
L= 50 m A=A = 5.0
L= 6.5 m  tRAA = 6.5

EiD) 205 m

T AT 7 I SR A- HETEHEZE LY = 1,274.0

&) | 12740 m2

T RAT7IL NEEHR A= 1274.0 m2
t= 0.05 m
V= 63.7 m3 63.7 m3
7 AT 7IL LS V= 63.7 m3
2.3 t/m3

w= 146.5 t 146.5 t
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